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1.

‘Asian

~ (d) .Llaqat,Al} Khan

PART—A

Which of the following was the first 5.
legislative interference by the British
Parliament in the affairs of East India
Company in India ? |

(a) Regulating Act

(b} Charter Act of 1813

{c) Charter Act of 1833

{d) Declaratory Act

Netaji Subhas Chandra Bose established

the provisional Government of Free India

on 8" October 1943, Where was it ?

(a) Tokyo ‘ 6.
(b) Singapore

(¢) Rangoon

(d) Bangkok

In which city is.the secretariat of South

* Association” *Vf()'r * Regional
Cooperation (SAARC) located ? 7 _
() New Delhi | oy
(b) Islamaba:i o e
(c) Kathmandu

(d) Dhaka . .

L : S VAN PN R

+(d) ..Spleen

Who among the following leaders was

known as ‘The Frontier Garidhi® 2 ' /v "« £8,. !
(a) Badruddin Tyabyi o
(b) Saifuddin Kichlew '
() Khan Abdul Gaffas Khan " .
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b de g et
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Consider the following statements :
Tornadoes are :

1. Tropical cyclones

2. Anticyclones

3. Temperate cyclones

4. Atmospheric disturbances

Select the correct answer from the code

given below :

(@) 1 and 2

(b) 1 and 4

{c) 2 and 4

(d) 2 and 3

The National Development Council is :

(a) An advisory committee to the Prime
Minister of India

(b) A division of the Planning
Commission '

(¢) An apex body that ﬁnally approves
the plan .

(d) A high power committee that

_ implements state planning .

., Which organ in the body stores glucose
_"xin the form of glycogen ?

(a) Panpjeas
(b) {]-L.ivg_r .
(c) ‘.}.Kidngy '

JIn*the-Solar System, :Saturn is. located

between :

(a) Neptune and Uranus C e
'(b) 'Mercury and Earth - S
“(€) ’Venus and Mars - : I

(d) Uranus and Juplté P T AR
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9.

10.

11.

12.

Seasonal changes on the earth occur due
to .

(a) Inclination of earth on its axis and
rotation )

(b) Inclination of earth on its axis and-
revolution

{c) Rotation and revolution of Earth

(d) Revolution of the Earth only

Which among the following was the

objective of Gandhi in starting the Dandi

March ?

(a) To propagate the ideology of the
Congress among the masses

(b) To gain the support of the masses

(c) To violate the Salt Law

(d) To defy the prohibitory orders of the
local administration against holding

* of mass meetings
Consider the following pairs :
1. Bhiterkanika

Mangroves Orissa
2. Jog Waterfalls Himachal Pradesh
3, Valley of

flowers Uttarakhand

Which of the above pairs is/are correctly
matched ?

(a) 1 only

(b) 1 and 3 only

(¢) 2 and 3 only

(d) 1,2 and 3

In recent times, Spirulina, an algae is_
being popularized because it is a rich
source of :

(a) 'Carbohydrate
(b) Protein

(¢) Iron

(d) Folic Acid

-]

13.

14.

15.

16.

17.

In which State is the famous Tawang
monastery located ?

(a) Arunachal Pradesh

(b) Jammu and Kashmir

(c) Himachal Pradesh

(d) Sikkim

In which one of the following food crops
has a genetically modified variety been
produced very recently ?

(a) Banana

(b) Brinjal

| (c) Potato

(d) Tomato

Recently ‘Swat’ area is in news frequently,
where is it located 7

(a) India

(b) Pakistan

(c) Nepal

(d) Sri Lanka

What should be the angle of canon barrel

to the ground to send the canon ball to

the maximum distance upon firing ?
(a) 15°

(b) 30°

(c) 45°

(d) 60°-

Among the following, through which does
sound travel faster ?

(a) Air

(b) Iron

(c) Water

(d) Wood
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[8.

19.

20.

21.

Consider the following pairs :

1. Jawaharlal
Nehru Port

2. Kandla Port
3. Paradeep Port

Andhra Pradesh
Gujarat

Orissa

* Which of the above pairs is/are correctly

matched ? '
(a) 1 and 2 only
(b) 3 only

(¢) 2 and 3 only
(d) 1,2and 3

To which Prime Minister of India.

is attributed the slogan “Jai Jawan, Jai
Kisan” ?

(a) Jawaharlal Nehru

(b) Lal Bahadur Shastri

(c) Indira Gandhi

(d) Morarji Desai

Who of the following gave us the slogan
“Jai Hind” ? ’

(a) Aurobindo Ghosh

(b) Rabindra Nath Tagore

(c) Subhas Chandra Bose

(d) Bankim Chandra Chatterjee

All matters relating to, or connected with

the election of the President of India

including an election petition are enquired

into and decided by :

(a) A tribunal constituted for the purpoée
of Election of President of India

(b) Any High Court where the petition
is moved ‘

(¢) A committee specially constituted for.

the purpose by the Rajya Sabha
(d) The Supreme Court of India

22.
. consider the following pairs :

23.

24,

25.

With reference to power generation,

1. Tehri Hydro Power

Complex . Bhagirathi
2. Vishnugad Pipalkoti
- Project ' : Mandakini
3. Nathpa Jhakri Hydro
Electric Project : Tons

Which of the above pairs is/are correctly
matched ?

(a) 1 only

(b) 1and 2.
(¢) 2and 3
(d}. 1 and 3

A number consists of three digits of which
the middle one is zero and their sum is 4.

" If the number formed by interchanging

the digits is greater than the number itself
by 198, then what is that number ?

(a) 301
(b) 202
(c) 103
(d) 101

‘Which of the following are tropical

grasslands ?
(a) Prairies
(b) Pampas
(¢) Savannas
(d) Steppes
Which one of the following States of

India is the foremost producer of Natural
Rubber ?

'(a) Assam
"(b) Tamil Nadu

(c) Karnataka
(d) Kerala

{Contd.)
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26.

27,

29.

‘1. The Simon Commission did not

Consider the following statements

about Comptroller and Auditor General

of India :

1. He is appointed by the President.

2. The procedure and grounds for his
removal from office are the same as
for a Supreme Court Judge.

Which of the statements given above is/ 31

are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
Durand Line separates :

. (@) Afghanistan and Pakistan

(b) Bangladesh and India
(¢) China and India .

~ (d) India and Nepal
28.

“Swaraj is my birth right and I will have
it”. This is attributed to :

(a) Lokmanya Bal Gangadhar Tilak
(b) Mahatma Gandhi

(c) Pandit Jawaharlal Nehru

(d) Netaji Subhas Chandra Bose

Consider the following statements
regarding the Simon Commission :

include a single Indian member
though its purpose was to prepare a
future constitution for India

2. The members of the Commission
- discontinued their work in the face
of the countrywide agitation

Which of the above statements is/are

correct ? )

(@) 1 only

(b) 2 only

(c) Both'! and 2

(d) Neither 1 nor 2

L - -]

32,

33.

30. Who among the following Presidents of

India was also a Speaker of Lok Sabha ?
(a) Gyani Zail Singh

(b) V.V. Giri

{c) Neelam Sanjiva Reddy

(d) K.R. Narayanan

Match List-I with List-II and select the
correct answer from the code given below
the lists : ‘

List-1 List-I
A. Nepanagar 1. Heavy electrical
: industry
B. Bhopal 2. Cotton textile
industry .
C. Kolkata 3. Paper industry
D. Perambur 4. Railway equipment
industry
Code :
A B C D
(@ 3 1 2 4
(1 3 4 2
© 2 4 1 3
d 4 2 3 1

The main cause behind the movement of
air in atmosphere is :

(a) Difference in humidity

(b) Difference in atmospheric pressure
{c) Gravitational force

(d) None of the above .
Which one of the following is a greenhouse
gas ? ,
(a) Oxygen

(b) Helium

(¢) Carbon-dioxide
(d) Nitrogen

(Contd.)
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34,

35.

36.

37.

38.

Sardar Sarovar Project is related to which
river ?

(a) Narmada

(b) Tapti

(c) Sutlej

{d) Chambal

Consider the following :

1. Ajanta caves (Maharashtra)

2. Mahabodhi Temple
Bodhgaya (Bihar)

3. Deer Park, Sarnath (UP)

4. Kaziranga National Park (Assam)

Which of the above are World heritage

Properties as per UNESCO ?

(a) 1 and 2 only

(b) 3 and 4 only

(¢) 1,2 and 4 only

(d) 1,2, 3 and 4

Which one of the following is not a

member of ASEAN ?

(a) Brunei Darussalam

(b) Cambodia

(¢) Vietnam

(d) India

Pattadakal group of monuments is located

in which one of the following States ?

(a) Bihar

(b) Kamnataka

Cpmplex,

(c¢) Madhya Pradesh

(d) Orissa _ . ‘
In India, which one of the following regions
is a global “biodiversity hotspot” ?

(a) Central Himalayas
(b) Eastémn Ghats
(c) Western Himalayas
(d) Western Ghats

39.

40.

41.

42,

43.

Which one of the following diseases is

caused by virus ?

(a) Diphtheria

(b). Influenza

(c) Tuberculosis

(d) Typhoid '
Which one of the following is the longest

‘National Highway in India ?

{a) NH 2

(b) NH 7

(c) NH 8

(d) NH 31" ‘

How many integers from 1 to 1000 have
none of their digits repeated ?

(8) 735

(b) 736

(¢} 737

(d) 738

The 2016 Summer Olympic Games wiil
be held in :

(a) Copenhagen

(b) Tokyo
(¢) Rio de Janeiro
(d) Chicago

"A train, which is 150 m long passes a

platform of 200 m in 15 seconds. What is
the speed of the train ?

(a) 36 Km per hour
(b) 64 Km per hour
(¢) 84 Km per hour
(d) 91 Km per hour

(Contd.)
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44. In a group of 52 personé, 16 drink tea but
not coffee, while 33 drink tea. How many
drink coffee but not tea ?

(a 17

(b) 19

© 35

(d)y 22

B is thrice as fast as A. If A can finish
a job in 12 days, how long will it take
for both A and B to finish the same job
together ?

(a) 3 days
(b) 4 days
(c) 45 days
(d) 5 days
The three fundamental colours from which
all colours can be reproduced are :
- (a) Red, Yellow and Violet
{b) Yellow, Blue and Violet
(c) Red, Green and Yellow
(d) Red, Green and Blue

If LSIXVC is the code for MUMBAI,
the code for DELHI is :

(a) CCIDD

(by CDKGH

(¢} CCJFG

(d) CCIFE :

Who assigned the districts of Burdwan,

45.

46.

47.

48.
Midnapore and Chittagong to the
British ?

(a) Alivardi Khan
(b) Sirajuddaulah
(¢) Mir Jafar
(d) Mir Qasim

- 49. Who was the Viceroy of India at the time

of Jallianwala Bagh massacre ?
(@) Lord Chelmsford

(b)- Lord Curzon

(c) Lord Irwin

(d) Lord H-arding

50. Tobacco. was introduced in India during

the reign of :
(a) Akbar
(b) Jahangir
(c) Shahjahan
(d) Aurangzeb

51. Match the List-1 with the List-Il and select
the correct answer using the code given
below the lists :

List-1 List-11
(Disorder) (Gland
responsibie)
A. Dwarfism 1. Thyroid
B. Goitre 2. Pituitary
C. Osteoporosis 3. Pancreas
D. Diabetes 4. Parathyroid
Code :
A B C D
@2 3 4 1
3 4 2 1
(c)y 2 1 4 3
@3 4 1 2
{Contd.)
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52. - Pancreas is :

" 53.

54,

55.

56.

- (a) An exocrine organ

(b) An endocrine organ
(c) A vestigial organ
(d) An endocrine and exocrine organ

Which one of the following is not a

characteristic of a musical sound ?
(a) Wavelength '

(b) Pitch

{c) Quality

(d} Loudness

A device used for measuring small current
due to changing magnetic field is known

as : _
(a) Galvanometer
(b) Ammeter
{c) Voltmeter
(d) Potentiometer

Nobel Prize is given not only to individuals

57

but also to organizations in the subject :

(a) Economics

(b) Physiology or Medicine
(c) Literature

(d) Peace

Major area of research of Acharya Jagadish
Chandra Bose was :

(a) Geology

(bj Zoology

(c) Botany and Physics
(d) Chemistry

14

58.

59.

60.

In a row of students, A is behind C, B is
in front of D, and C is behind D. Who is
first in the row ?

(@) A

(b) B

{c) C
(d) D

§ .

Usha runs faster than Kamala, Priti runs
slower than Swati, Swati runs slower than

Kamala. Who is the slowest runner ?
(a) Kamala
(b) Priti

() Swati

(d) Usha

An accurate clock.shows 8 o’clock in the
morning. The hour hand then rotates by
90°. The time in the ¢clock is :

(a) 9 o’clock

(b) 10 o’clock

11 o’clock

(c)

(d) 12 o’clock

A can dig a pit in 5 days and B can dig
it in 3 days. How long will it take if both
A and B work together ?

(a) 15/8 days
(b) 4 days .
(c) 8/15 days

.(d) 2 days

~(Contd.)
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55.
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62.

63.

64.

A person bought 110 glass bowls at a rate-

of T 10 per bowl. He sold 100 of them
at T 14 and the remaining broke. What
is the percentage gain for A ?

(a) 40

®) 300/11

(c) 243/7

(d) 279/11

For the past two years, it is observed that
the population of a place is increasing by
10% per year, If the present population is
6171 then the population two years ago

- wWas .
. (a) 4937

{b) 5000

(c) 5554

(d) 5100 |
In a garrison, there was food for 1000
soldiers for one month. After 10 days,
1000 more soldiers joined the garrison.
How long will the soldiers be able to carry
on with the remaining food ?

(a) 25 days

(b) 20 days

(c) 15 days

(d) 10 days

A person is standing on the first step
from the bottom of a ladder. If he has to
climb 4 more steps to reach exactly the

middle step, how many steps does the
ladder have ?

(a) 11
(b) 10
(c) 9
(d) 8

65. A person’s salary was reduced by 20%.
By what per cent should the reduced salary
be increased in order to obtain his original
salary ? | '
(@) 15%

(b) 20%
() 25%
(d) 30%

66. In a party, there were a total of 45 hand
shakes. If each person shook the hand of
every other person present, how many were
present at the party ?

(a) 10
(b) 15
(c) 20
(d 30

67. In a test, a student attempted only six
questions and having got full marks for
each of the questions, secured 40% marks
in the test. How many questions did he
not attempt ?7 |

(a) 3
(b) 6
(c) 9
d) 12

68.
2 4 5
@ @ O
1 1 3
What is the number in the circle with
question mark ?
(a) 84
(b) 90
(c) 96
(d) 102

(Contd.)
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65.
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67,

68.
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69.

(

(©)

71.

Which one of the following diagrams given

below illustrates the relationship among
Officers, Women and Birds ?

a) (b)

Bo'®
@

o (DO

70.

Examine the following statements :
1. All colours are pleasant
2. Some colours are pleasant

3. No colour is pleasant

4. Some colours are not pleasant

Given that statement 4 is true, what can
be definitely concluded ?

(a) 1 and 2 are true
(b) 1 is false
(c) 2 is false
(d) 3 is true

Which one of the following rivers has its
source outside the Indian territory ?

(a) Beas
(b) Chenab
(¢) Jhelum
(d) Sutlej

72.

73.

74,

75.

(a)

NO)

At which one of the places do the rivers
Alaknanda and Bhagirathi merge to form
Ganga ?

(a) Devprayag

{(b) Karnaprayag

(c) Rudraprayag

(d) Vishnuprayag

In which one of the following places
is Asiatic Lion found in its natural
habitat ?

(a) Nallamalai hills of Andhra Pradesh

(b) Gir forest of Gujarat _
(c) Dandakaranya region of Chhattisgarh
(d) Western Ghats of Malabar coast

Kyoto Protocol is related to controlling

the :

emission of greenhouse gasés
(b) destruction of biodiversity
cyber crime

(d)

global terrorism

In which one of the following types of
forests is the teak a dominant tree
species ?

(a) Tropical deciduous forest

(b) Tropical rain forest

(¢) Tropical thorn and scrub forest

(d) Temperate forest with grasslands

(Contd.)
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76.

77.

78.

PART—B

The National Tsunami Early Warning
System has been set up by the Government
of India at :

(a) Indian National Centre for Ocean
Information Services (INCOIS),
Hyderabad

(b) National Disaster Management
Authority, New Delhi

(c¢) National Institute
Technology, Chennai

of Ocean

(d) - Ministry of Earth Sciences, New

Delhi .
CISF can be called for “Internal Security”
duties on the orders of :
(a) Director General of CISF
(b) Government of India
(¢) State Government
(d) All the above
With - reference to the Workmen'’s
Compensation Act, 1923 (now known as

the Employees Compensation Act, 1923),
consider the following statements :

1. The Act applies to the workmen of
factories, mines and construction
work and not to those of plantations.

2. In the case of permanent total

' disablement, the compensation can
go upto T 20 lakhs depending on
the age and wages of the workmen.

Which of the statements given above is/

are correct ?

{a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

79.

" (a) Bomb detection —

80.

81.

82.

Which one of the following pairs is not

correctly matched ?
Bomb pit
(b) Access control -—— Smart card
(¢) Staff gate —
(d) Security hold

area —_

Operational area

Cabin baggage*
P pawned his watch to Z and takes it out
of Z’s possession without Z’s consent, not

having paid what he borrowed on the -

watch. Which is the offence, if any,

committed by P ?

(a) Criminal Breach of trust

(b) Theft

{c) Extortion

(d) Misappropriation

A “safe house” means :

{a) A house where VIP can live with
safety

(b) A house where VIP is rushed in, in
an emergency

(c) A house where security guards have
been posted

(d) All of the above

A, an officer of a court of justice, being

ordered by that court to arrest Y, and after

due inquiry believing Z to be Y, arrests Z.

A can be said to be liable for :

" (a) the offence of wrongful confinement

(b) no offence

(¢) the offence of criminal negligence

(d) the offence of wrongful restraint

(Contd.)
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83.

84.

- 85.

(b)

‘A’ finds an RBI Bearer Bond amounting
“to T 50,000/- belonging to ‘B’. ‘A’ pledges
it with the Bank for two months, to secure

a loan for T 30,000/- and after two monthg;,
he returns it to ‘B’. A has committed :

(a) no offence
(b) theft

(¢) criminal misappropriation

{d) criminal breach of trust

X, knowing that Y is suffering -from an
eljlarged spleen, gives him a minor blow.
The spleen bursts and Y dies as a
consequence. The blow is not likely to
cause death of a healthy person. What
offence, if any, X commits ?

(a) No offence

Culpable homicide not amounting to

murder
Murder .

Attempt to murder

(©)
(d

A sought the aid of B, with the intention
of committing a theft of the property of
B’s master. B, with the knowledge and
consent of his master, and for the purpose
of procuring A’s punishment, aided A in
carrying out his object. Which of the
following statements is correct ?

(a) Both A and B are guilty of theft
(b) B is guilty of theft and A is guilty of
abetment of theft

A is guilty of theft

Both A and B have committed no

(©)
(&)

~ offence

86. With reference to the employer’s liability

87.

to pay compensation in case of work injury,

consider the following statements :

1. If the injury does not result into
disablement for a period not exceeding
three days, the employer is not liable
to pay any compensation.

2. If the injury is directly attributable
to drunken or drugged state of
workman, the employer is not liable
to pay any compensation.

Which of the statements given above is/

are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
{d) Neither 1 nor 2

With reference to the closure of

industrial undertakings under the Industrial

Dispute Act 1947, consider the following

statements :

1. On closing down, the workmen shall
be paid compensation equivalent to
15 days average pay for every
completed year of continuous service
or part thereof in excess of six months.

2. The procedure for closure is not
similar to the procedure for lay off.

Which of the statements given above is/

are correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

(Contd.)
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88.

89.

90.

91.

92.

Why is red light used for indicating danger 93.

signal ?
(a)
(b)

Red colour is soothing to the eye

Human eye is most sensitive 1o red
colour

(c)
(d)

Red light is scattered least
Red light is scattered most

‘Random’ frisking means :
(a)
(b)
(c)
(d)

Frisking of young persons

Frisking of bad looking persons

-Frisking of every third or fourth
person

Which one of the following is nof a
computer language ?

(@) C~

(b) Fortran

(c) Skype

(d) Visual Basic

95.

Which types of waves are used in a night
vision apparatus ?

(a) Infra-red waves

(b) Microwaves

(c) Radio waves

(d) Both microwaves and radio waves

Which one of the following is used as an 96
explosive ?

(a) Graphite .

(b) Mercuric Oxide

(¢) Phosphorus Trichloride

(d) Nitroglycerine

Frisking after the study of behaviour 94.

Who among the following can be the

Chairperson of the National Human Rights

Commission ?

{a) A member of cither House of
Parliament

(b) A person who has been the Chief .

Justice of the Supreme Court of India

{c) A social worker actively involved in

the promotion of human rights

{d) Any sitting judge of High Court or

Supreme Court '

A statement made by an accused in

. police custody is admissible as confession

when :
(a)
(b)

the accused admits his guilt directly
it leads to the recovery of the object
- of ‘crime
(¢) it leads to the recovery of some object
other than that used for crime
{d) it states circumstances which could
help to trace the crime
Which section of the following Acts/Codes
gives protection to the Armed Forces of
the Union against prosecution ?
(a) Section 197 of Indian Penal Code
(b) Section 97 of Indian Penal Code
(c) Section 197 of Criminal Procedure
Code

(d) Section 100 of Indian Penal Code

. When we delete a file from the hard disk,

it
(a)
(b)
(e}’
(d)

is permanently deleted
moves to My documents folder
moves to Recycle Bin

is copied to Recycle Bin

(Contd.)
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97.
~ He picks it up and sells it. What is the -

98.

99.

X finds a ring on the nationa! highway.

offence of X ?

(a) Theft

(b) Criminal Misappropriation

(¢) Cheating

(d) Both (a) and (b)-

A is entrusted with the property, which

he dishonestly disposes of in violation of
any direction of law. What offence is

. committed by A ?

(a) Mischief

(b) Theft

(¢) Criminal Breach of Trust

(d) Cheating

Who among the following is the Competent
Authon'ty for the termination of the services
of the CISF constable undergoing basic
training ?

(a) Commandant of the Unit where the
constable is posted

DIG in-charge of Unit where
constable is posted -

b

(c) Principal of the Training Centre where
the constable is undergoi‘ng basic

training
(d) Any Gazetted Officer of CISF
100. What is the wvalidity of Panel

recommended by the Departmental
Promotion Committee ? '

(a) 6 months
(b) .12 months
(¢) For the current calendar year

(d) Till the panel is completely exhausted

101.

“Y* Category protectee has
(a) P.S.0.s & a house guard

(b) PS.Os,a house guard and a mobile
gscort

(¢) Only PS.Os
(d) Only a house guard

102. Under which section of law, CISF or any

armed force of the Union can be summoned
by the district magistrate for dispersing

. an unlawful assembly ?

103.

(a) Section 1 of Armed Forces Special
Powers Act .

(b) Relevant Section of CISF Act

(¢) Section 130 of Criminal- Procedure
Code

(d) Section 197 of Criminal Proc¢edure
Code .

Any police officer may without an order

from a Magistrate arrest any person :

1. Who has been concerned with any
cognizable offence ,

2. Who possesses any implement of
house breaking

3.  Who obstructs a police officer in the
execution of his duty

Select the correct answer using the code

given below :

(a) 1 and 2 only
(b) 2 only

(¢) 1and3 only
(d) 1,2 and 3
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104. Z voluntarily sets the house of Y to fire. 108. The doctrine of Estoppel is applied :

(a)
&
(€)
(d)

- Which one of the offences is committed
by Z ?
(a) Criminal Trespass
{b) Mischief
(¢) Criminal Breach of Trust
(d) House Breaking

only in civil matters
only in criminal matters
in both civil and criminal matters

only when there is violation of the

principle of natural justice

105.

A road-opening party does the 109. You are guarding an airfield in an
following : insurgency affected State. What will you
(a) Patrols the road on a vehicle ensure for securing the perimeter ? :

(b) Patrols the road on foot (a) Barbed wire fence
(c) Clears jam on the road (b) Barbed wire fence electrified '
(d) Gets deployed on a stretch of road (c) Barbed wire fence and electronic

to prevent an lambush SENSOTS

106. Undercarriage inspection system is used

(d) Barbed wire with flood lights
to :
(a) Check d?feCtS in the undercarriage 110. Under Section 122 of the Indian Evidence
of a vehicle Act 1872, immunity of privileged
(b) To inspect the undercarriage of a communications is available to :
vehicle from ann-sabo.tage angle (a) professionals
h i '
* (c) To ph-otograp the undercarriage of (b) magistrates
a vehicle © jud
¢) judges
(d) None of the above uee
. (d) husband and wife
107. You are deployed as the in-charge of :

a platoon guarding the perimeter of an

111. As the in-charge of a company guarding

airfield. To locate any suspicious

movement towards your perimeter at night, the perimeter of an airfield in an insurgency

which of the items noted below would affected area, which weapon will you select

you select ?

(a) Torch light

(b) Night Vision Device (NVD)
(c) Dragon light

(d) Camera with flash light

as your personal weapon ?
(a) 7-62 SLR |
(b) AK. 47

(¢) 9 mm pistol

(d) INSAS rifle
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112.

113.

114.

Ondutyina busy airport you are informed
that a suitcase has been lying unattended
near a bench. What immediate action will
you take presuming that it is a bomb ?
(a) Announce through
Announcement System giving a
description of the bag and asking the

owner to claim it.

Place protective sand bags around to
take the shock of an explosion

(b)

(c)
(d)
You are detailed to guard the perimeter
of the Parliament as a special case. A car
with a car-pass for the Parliament drives
up. There are four pas'sengers with a driver.
The M.P. sitting inside points to the car-
pass and directs you to let him pass. What
will you do ? |

(a)
(b)

Lift the bag and take it to a safe area
Inform superior officers

Allow the car to go in

Insist on checking the pass of the
M.P. and the visitors passes of the
other passengers and the driver

Check the passes of the MP and driver
only

(d) Ask the car to go back

You are guarding the perimeter of an
airfield in an insurgent area. The
ground outside the perimeter is broken
and undulating. Considering the nature of
the terrain which of the weapons noted
below will you indent for guarding the
perimeter ?

(a) Light Machine Gun

(b) 5! mm mortar

(©)

(c) Hand grenade

"~ (d) Self loading rifle :

the Public-

115.

Which of the following parts of a computer

. processes the input data to output ?

116.

117,

118.

(a) CPU

(b) Memory
(¢) Keyboard
{(d) Monitor

When computer is switched off, the
contents in which of the following are’

washed away ?
() ROM

(b) RAM

(c) EPROM

(d) Hard disk

Windows XP is :

(a) an application program
(b) an operating system
(c) a hardware

(d) an input device

You are detailed for election duty in a
Naxal infected forested area. There is
information that the dirt roads are mined.

What precautions will you take in moving

to the place of the deployment ?

Detail the R.O.P. and check for
landmines/1.E.D.s before moving

(a)

Ask the State Government to clear

(b)

the area first before moving
(c)
(d)

Move in a mine protected vehicle

Ask the Army to clear the road
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" 119. Uninterrupted Power Supply (UPS) is-used

to :

(a) protect computer system from power
surges

(b) give back-up only

(c) give back-up for limited period and .

protect computer from power surges

(d) give unlimited power supply to
computer

120. We can update an anti-virus software by :
(a) writing a program
(b) sending e-mail to program developer
(c) chat
(d) dowﬁloading a patch

121. CISF Act allows it to get inducted into :
(a) Only Public Sector enterprises
(b) Only Joint Sector enterprises
{(c) Only Private Sector enterprises

(d) Both Public and Private Sector
enterprises

122. According to CISF Act it 1s :

(a) A watch and ward agency

(b) Meant for protecting employees of |

the undertaking _
(¢) Supposed to give security consultancy
(d) All of the above ‘

123. Crime & Intelligence Wing (CIW) of a
CISF Unit is meant for :

(a) Catching the criminals
(b) Providing unit level intelligence to
officers ‘

(¢) Attending to miscellaneous tasks
given by senior officers

(d) Collection of information about crime,

trade union activities and intra unit
activities

124. Aviation security implies following
areas :

(a) Security of the aircraft
(b) Security of the passengers

(¢) Security of the airports, passengers
and aircraft

(d) None of the above

125. Full Body Scanners are used for :
(a) Detecting knives and pistols
(b) Detecting explosives
(¢) Detecting drugs
(d) All of the above

126. Ladder point/secondary checking is done
at an airport by :

(a) CISF

(b) Local police

(¢) Home Guards

(d) None of the above

127. Watch-tower is provided at an airport
to :

(a) Watch the birds on the runway
(b) To ensure that cargo is not stolen
(¢) To strengthen perimeter security
(d) None of the above

128. Taut-Wire system is used for security at :
(a) Departure entry
(b) Staff Gate
(c) Security Hold Area
(d) None of the above

129. Hand-baggage is screened at the airports
by :
(a) CISF
{b) CISF/Local Police
(c) Airline Scéurity
(d) Airport Security
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130. Which of the following is not correctly 136. Which of the following is not correctly

matched ? : matched ?

(a) Disaster Management — NDMA (a) Access Control — Power Fence
.(b) Aviation Security — BCAS (b) Sub-officer — A.S.I.

(c) Cargo Screening — CISF (¢) Rule 36 CISF Rules — Dismissal

(d) Perimeter Security — PIDS

~131.CISF checks Tickets and I-Card at the
departure entry of an airport to :

(a) Catch the terrorist

(d) Boarding Gate — Pilot.
137. Sabotage in an enterprise implies :

{a) Fight betwgcn its employees

. . {b) Misunderstanding between the
| (b) Detect a person carrying explosives
| . management and the workers
E (¢) To stop entry of relatives of

passengers (¢) Causing physical harm to the plant
(d) None of the above by illegal means -

|
132, Behaviour Detection is a method of (d) None of the above ‘
‘ catching terrorist by the study of : 138. CISF is in-charge of Metro-Rail security

(a) His looks S at:
(b) His speech _ (a) Kolkata & Dethi
(c) His body language . (b) Delhi
(d) All of the above (c) Bangalore & Delhi
| '133.X-Ray Machine (X-BIS) detects an (d) Mumbai
explosive through : - 139. Integrated security system means :
(2) the smell of explosive (a) Where security force is honest

(b) the thickness of the explosive (b) Where security gadgets do most of

{c) the wires attached to the explosive the work

(d) None of the above (¢) Where minimum manpower is used
134. Metal Detector works on the principle of - (d) None of the above :
(a) X-rays ' :

0 El 140. Besf security system is where :
(b) Electrons

(¢) Electro-magnetic field
(d) None of the above
135. Subversion is understood as :

(a) Maximum Control is through
manpower '
(b) Maximum Control is through security

. _ . gadgets
(a) Sending a terrorist to cause harm '

(b) Planting a bomb
(¢) Raising anti-management slogans
(d) None of the above

(c) Security points are controlled by
deployment of manpower and gadgets
simultaneously

(d) None of the above
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141.In an enterprise, CISF is in-charge of : 146. For election-duty, para-militéry forces
(a) Physical Security & Personal function under the command of :
Protection (a) Commaﬁdant
(b) Sabotage | (b) Superintendent of Police
(c) Crime _ : (c) District Magistrate
(d) All of the above (d) Election Commission

142. By espionage in an industrial undertaking, . 147 What is TIPS (Threat Image Projection
it is implied : '

System) ?
(a) Taking out precious material (a) Projection of real images in X-BIS
(b) Leaking personal secrets of the machine
management (b) Projection of fake images in X-BIS )
{(c¢) Leaking of industrial secrets " machine
(d) Leaking details of security {(c) Projection of image of threat objects e
arrangements

during a presentation

143. Pat-down frisking has the following (d) None of the above

advantages over metal detector frisking 148. What does biometric system use ?

(a) It detects liquid explosives also (2) Finger Print
(b) Palm Print
(¢) Iris Print
(d) All of the above
149. What does PIDS (Permit Intrusion
Detection System) use ?
(a) Infra-Red Rays
(b) Buried Cable
(¢) X-Rays
(d) None of the above

150. A Boom barrier is used for :

(b) Tt can detect drugs also
(c) . It is medically safe
(d) None of the above

144. Which of the following is not correctly
matched ?

(a) Bomb Disposal — Dog

(b) Explosive — ETDS

(¢) Hold Baggage — Reconciliation
(d) CISF — Private Industry

145. Who performs close protection duty in
VIP security ?

(a) Escort (a) Access control of humans
(b) House Guard (b) Access cont_rol of humans & vehicles
(¢) PS.O. ' (c) Access control of vehicles

(d) Al cl)f the above . (d) None of the above
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